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1 H J:E ODEHIEIFLEZZZOkPa*'( X\ /m
A B C D E F I P
BB | AT | mosE |axEy axE [tass sas HERRE| ZEE | #BE%
0 0.20% -5.1 0 0 220.0 0
0 0.20% -6.2 1.1) -0.5 21791 -1.0
0 0.20% -3.5 2.7 -0.5 221.4 0.6
0 0.20% 24 3.2 6.7 -0.5 231.0 50
5H 11.2 0 0.20% -53 95 6.3 -0.5 2375 7.9
6H 15.5 0 0.20% -74 14.4 49 -0.5 239.0 8.6
7H 19.3 0 0.20% -9.1 17.9 3.5 -0.5 236.3 7.4
8H 20.7 0 0.20% -9.6 21.2 3.3 -0.5 231.7 53
9H 16.1 0 0.20% -71.0 18.3 (2.9) -05 2172 -1.3
10A 9.6 0 0.20% -3.8 11.7 (6.6) -05 199.8] -9.2
118 2.7 0 0.20% -1.0 52 (6.5) -0.5 185.7| —-15.6
128 0 0.20% -1.1 (6.3) -0.5 174.8] -20.6
18 0 0.20% -5.1 (4.0) -05 168.3] —-23.5
&F 71 -45.7] -20.8% -6.0 -51.7
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1A LA DRBEZERE=220kPa+ ( RIRFFDRE—5.1E) X 1.1kPa
A B C D E F G H I P
BE | By | RomE |asmy a4k [ tasE ez | 1B |[ssze| anr| 25E | #HE%
0 0.20% -5.1 0 0 0 220.0 0
0 0.20% -6.2 1.1) 1.1 -1.2 -0.5 2183 -0.8
0 0.20% -3.5 2.7 1.1 3.0 -05 2208 0.3
0 0.20% -24 3.2 6.7 1.1 74 -05 227.6 3.5
5H 11.2 0 0.20% -5.2 9.5 6.3 1.1 6.9 -0.5 231.6 5.3
6H 15.5 0 0.20% -1.2 14.4 49 1.1 54 -0.5 2313 5.2
7H 19.3 0 0.20% -8.8 17.9 3.5 1.1 3.9 -0.5 227.5 34
8H 20.7 0 0.20% -9.2 21.2 3.3 1.1 3.6 -0.5 2219 09
9H 16.1 0 0.20% -6.7 18.3 (2.9) 1.1 -3.2 -05 2090 -50
10A 0 0.20% -3.7 11.7 (6.6) 1.1 =713 -05 1945 -11.6
118 0 0.20% -1.0 52 (6.5) 1.1 =12 -0.5 183.1| —-16.8
12H 0 -1.1 (6.3) 1.1 -6.9 -0.5 174.7| -20.6
18 0 -5.1 (4.0) 1.1 -44 -05 169.8| —22.8
=3 -20.1% 0| -60/ -50.2
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1B LADAEERE=220kPa+ ( BRI DSE—5.1/F) X 1.1kPa
A B C D E F G H I P
B | AEn |RosE |aney| arg|tass| saz2] & |z anr| =25F | 2%
5 0.20% -5.1 0 0 0 220.0 0
5 -6.2 (1.1) 1.5 -1.7 -0.5 2179 -1.0
5 0.20% -3.5 2.7 1.5 41 -0.5 2214 0.6
5 0.20% -0.1 3.2 6.7 1.5 10.1 -0.5 231.0 5.0
5H 11.2 5 0.20% -3.0 9.5 6.3 1.5 95 -0.5 239.8 9.0
6H 15.5 5 0.20% -5.1 14.4 49 1.5 7.4 -0.5 243.6] 10.7
78 19.3 5 0.20% -7.0 17.9 35 1.5 53 -0.5 243.3] 10.6
8H 20.7 5 0.20% -7.6 21.2 3.3 1.5 5.0 -0.5 240.8 94
9H 16.1 5 0.20% =51 18.3 (2.9 1.5 -4 .4 -0.5 2284 3.8
10AR 5 0.20% -20 11.7 (6.6) 1.5 -99 -0.5 21291 -3.2
118 5 5.2 (6.5) 1.5 -98 -0.5 200.7| -8.8
124 5 -1.1 (6.3) 1.5 -9.5 -0.5 190.7] -13.3
18 5 -5.1 (4.0) 1.5 -6.0 -0.5 184.2| -16.3
&F -13.5% 0 -6.0 -35.8
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1A LA DRBEZERE=220kPa+ ( RIRFFDRE—5.1E) X 1.1kPa
A B C D E F G H I P
BA | BEY [RoEE |BAGRYK B4R | LA5E| K82 | 1B |S222| akE| Z5E | #H%
5 0.20% -5.1 0 0 0 220.0 0
5 0.20% -6.2 (1.1) 11 -1.2 -0.5 2183 —-0.8
5 0.20% -35 2.7 11 3.0 -05 220.8 0.3
5 0.20% -0.1 3.2 6.7 1.1 714 -05 227.6 3.5
5H 11.2 5 0.20% -2.9 95 6.3 1.1 6.9 -0.5 233.9 6.3
6H 15.5 5 0.20% -5.0 14.4 49 1.1 54 -0.5 235.9 1.2
7H 19.3 5 0.20% —6.7 17.9 3.5 1.1 3.9 -0.5 234.3 6.5
8H 20.7 5 0.20% =72 21.2 3.3 11 3.6 -0.5 230.7 49
9H 16.1 5 0.20% -49 18.3 (2.9) 11 -3.2 -05 2198 -01
10A 5 0.20% -1.9 11.7 (6.6) 1.1 =13 -05 207.2] -5.8
118 5 5.2 (6.5) 1.1 =12 -0.5 1976/ -10.2
12H 5 -1.1 (6.3) 1.1 -6.9 -0.5 190.2| -13.6
18 5 -5.1 (4.0) 1.1 -4.4 -0.5 185.3| —-15.8
=3 -13.1% of -60[ -3847

250.0

200.0

150.0

100.0

50.0

00 T T T T T T T T T T T T 1




AR BARNE

XEBRBNIEKERDECEZRBEZW-ZERLRLC

% sk

15BN BEARRBN-RE21°CTO. 20% TEtE
BARRNEOEE=0COFE

AB | AT | RORE | BAFRH

0 0.20%

0 0.20%

0 0.20%

0 0.20% 2.1 2.2 2.3 24| 25 2.7 2.8 29 3.0 3.1 3.2
5A 11.2 0 0.20% 45 47 49 52 54 5.6 58 6.0 6.3 6.5 6.7
6H 15.5 0 0.20% 6.2 6.5 6.8 7.1 7.4 7.8 8.1 84| 87 9.0 9.3
;) 19.3 0 0.20% 1.7 8.1 8.5 8.9 9.3 9.7] 10.0| 10.4| 108 11.2] 11.6
8H 20.7 0 0.20% 8.3 8.7 9.1 9.5 99| 104 108 112 11.6] 120] 124
9R 16.1 0 0.20%
10A 9.6 0 0.20%
1A 2.1 0 0.20%
12H 0 0.20%
F 7.1 -40.2 -42.2| -44.2| -46.2 -48.2| -50.2| -52.2| —-54.2| —-56.2| -58.2( —60.2
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AB | A¥Y |RORE

5

5

5
5 0.20%| 0.1 0.1 0.1 0.1 0.1 02 02, 02 02f 02| 02
5A 11.2 5 0.20% 25 26| 27 29| 30| 31 3.2 33| 35 36| 37
6H 15.5 5 0.20%| 42| 44] 46 48 50 53 5.5 5.7 5.9 6.1 6.3
;) 19.3 5 0.20% 5.7 6.0f 6.3 6.6 6.9 1.2 1.4 1.7 80[ 83| 86
8AH 20.7 5 0.20% 6.3 6.6 6.9 7.2 7.5 79| 82 85 88 9.1 9.4
9R 16.1 5 0.20%| 44| 4.7 4.9 5.1 5.3 5.6 5.8 6.0] 6.2 6.4] 6.7
10AH 9.6 5 0.20% 1.8 1.9] 20 241 22 23| 24| 25 26 2.7 28

1A 2.7 5

on [N

F 7.1 -26.3| -27.6| —28.8| —-30.1 -32.6| —-33.9] —-35.1
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RORE | BARE
0 0.18%
0 0.18%
0 0.18%
0 0.18% 1.9 20 2.1 2.2 2.3 24 2.5 26 2.7 28 29
58 11.2 0 0.18% 40 42 44 46 48 50 52 54 56 58 6.0
68 15.5 0 0.18% 5.6 59 6.1 6.4 6.7 7.0 7.3 15 7.8 8.1 8.4
7H 19.3 0 0.18% 6.9 7.3 7.6 8.0 8.3 8.7 9.0 94 9.7 101 104
8H 20.7 0 0.18% 7.5 7.8 8.2 8.6 8.9 9.3 9.7] 10.1| 104| 108 11.2
9H 16.1 0 0.18%
108 9.6 0 0.18%
118 2.7 0 0.18%
128 0 0.18%
F 7.1 -39.8
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5 0.22%

5 0.22%

5 0.22%

5 0.22%| 0.1 0.1 0.1 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2
5H 11.2 5 0.22% 2.7 29 3.0 3.1 3.3 34| 35 3.7 3.8 40( 41
6H 15.5 5 0.22% 4.6 4.9 5.1 5.3 5.5 5.8 6.0 6.2 6.5 6.7 6.9
18 19.3 5 0.22% 6.3 6.6 6.9 1.2 7.6 7.9 8.2 8.5 8.8 9.1 9.4
8AH 20.7 5 0.22% 6.9 7.3 7.6 7.9 8.3 8.6 9.0 9.3 9.7 10.0( 104
9H 16.1 5 0.22% 4.9 5.1 54 5.6 59 6.1 6.3 6.6 6.8 7.1 7.3
10AH 9.6 5 0.22% 20 2.1 22 2.3 24 2.5 26 2.7 28 29 3.0
11A 2.7 5 0.22%
12AR 9 0.22%

F 7.1 -27.6| —29.0| -30.3| -31.7| —33.1




